ELECTRONICS CO. :m.

EMERGENCY VEHICLE SOUND, LIGHTING & EQIUIPMENT

906-0976A 2020
Chevy Silverado Floor Mount

INSTALLATION MANUAL

CONTENTS

Unpacking e

Installation o

Warranty —_—

RN SN LS I

Return Policy — 1

REV 1 01/5/20



UNPACKING

Before beginning any installation, unpack the equipment received. After unpacking,
examine ALL components received for any damage that may have occurred while in
transit. If any damage has occurred, file a claim IMMEDIATELY with the courier stating
the extent of damage. Check ALL envelopes, packing slips, shipping labels and tags
before removing or destroying them.

To ensure your satisfaction, open all cartons and report any shortages within 48 hours

of receipt.

HARDWARE PARTS LIST: FOR MOUTING FLOOR MOUNT

Quantity |[Description

6 1/4-20 x 5/8” Carriage Bolt

1/4-20 x 5/8” Hex Bolt

2
8 1/4” Flat Washer
8 1/4-20 Nylock Nut

VEHICLE PREPARATION
Removal of front passenger seat is required to install the floor mount.

INSTALLATION OF FLOOR PLATE
After removing the seat, align the holes on the floor mount to the hooks on the un-
derside of the seat rails. Install the seat back in place along with the floor mount.

Holes to be aligned
with seat hooks

Follow the drawing on the next page for securing the brackets to the floor mount.



ERS, ORCER DY

LTaa0n
Sold Seperatehy

Jx - 1/4-20 Nylock Nut
Jx - 1/4 Hat Washer

Mint Plate
Wiald in g

Tie Dowr Strap 1

2x-1/4-20x 5/8" Hex Bolt
2x.- 1/4-20 Nylock Nut
2x.- 1/4 Hat Washer

Tie Down Strap 2

Tie Dowr L Brit (2
[G0a-0242 4]

Biar ] 4384
Tie Dowr Strap Mnt

Additional Pocking Hardware /

Jx - 1/4-20 x 5/8" Camioge Bolt

AFPECAED

Jx - 1/4-20x 5/8" Camage Bolt

Jx - 1/4-20 Nylock Nut
Jx - 1/4 Hat Washer
3x - L Brkt B0&-0240A

o
SEMARZO

il b

oRdind 1w

CHHCLED AL 2AMARRD

IHE HFHCORWS [IDHCOHIA HED
"l HIW | HE ORAYNC E
FROFREIART A WD COR HDERILAL .
AHDE IHESCNE
FROPERIY S Dol
EIECIRSHES COu il 0. 1 T
W BE REFRCDUCED Al WrHiTD I E
QR W FAR| D] [HE
"WRIIEN FERMESIGH OF Danaf
EIEC IRORICECO 1100

2.00

_MG o 0o o 0 Q0 0 0 0 __u.u Tia Dowr Strap 2

11.00
ﬁn_ o 0 0O 0 0 O 0O 0 0O 0 cu Tie Diowrn Strap 1

Hua2d
midnigh t Elac k Wirin ke

DA HDR-ARERA

RENZ .P

AFRD | ZD0R

I%u:-.in_.a. v.n

Feph. ViiEweEl: ENELEEMT, AAPTH_OFNTY U O T
2020 Silverado 3500
LTa46MEK
iﬁ.ﬁ.wﬁbl=ﬂﬂbh CAl oS, Jyo, xxx
TS ey SHEET 1 &F1
_ 12 ga <R3 i D



WARRANTY

D & R Electronics warrants its new products to be free from defects in material and workmanship, under normal use
and service for a period of one year on parts replacement and one year on labor.

This warranty applies only to original purchasers acquiring the product directly from D&R Electronics, or its authorized
dealers. Warranty will not be recognized without proof of purchase or bill of sale.

This warranty is not transferable.

The warranty begins on the date of delivery to the first user/purchaser.

This warranty shall not apply to products which must be repaired due to normal wear and tear, negligence, improper
installation, abuse, misuse, or which have been altered or modified at a facility other than D & R Electronics, or its au-
thorized depot centers.

Units proved to be defective within the warranty period, based on an examination by D&R Electronics, will be replaced
or repaired at D & R Electronics’ option. This warranty does not cover travel expenses or labor charges for removal or
installation.

Lamps, flash tubes, batteries or other items considered consumables are not covered under warranty.

This warranty is in lieu of all other express warranties. D&R Electronics makes no warranties, expressed or implied,
other than the express warranties contained herein.

PRODUCT RETURN POLICY

In order to provide you with faster service, product returns for repair or replacement, must have a Return Goods Author-
ization Number (RGA number). Please contact our company to obtain a RGA number before you return the
product to D & R ELECTRONICS. Write the RGA number clearly on the package. Be sure you use sufficient packing
materials to avoid damage to the product being returned while in transit.

D & R ELECTRONICS assumes no responsibility or liability for expenses incurred for the removal and/or the installa-
tion of products requiring service and/or repair.

Repairing or replacing product is at the discretion of D & R ELECTRONICS.

D&R ELECTRONICS Co. LTD.

CANADA USA
8820 George Bolton Pkwy. 2299 Kenmore Ave.
Bolton, Ontario L7E 2Y4 Building #3, Doors 11-14

Buffalo, NY 14207

Tel.: (905)951-9997 Toll Free 1-800-538-7338
Fax: (905)951-0019
www.dandrelectronics.com



